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 حسابات الناتج: إجابات السلسلة الثانية 
 إجابة التمرين الأول:

1 

GDPPIB

GNPPNB

2 

 

3 

 

4  

 

 
        

5 

 

6 

GDP

 

 التمرين الثاني:إجابة 

1 C

IGXM 

2  



73 

 

3 C 

I

G

XM

 

4 20 

5 

 

6 

 

 التمرين الثالث:إجابة 

1 

 

2 

 

3 

GDP 0202031

020203220



72 

 

0

 

4 

 

5 

0202022

020200202%

 

 
0200

002 

      
   

   
 

 022 % 20      
   

 

 00 % 0200      
   

    

 20 % 0220          
   

    
 

 

   

  
         

002002000220



12 

 

 :الرابعإجابة التمرين 
1 GDP

GDP  

GDP= →(200,000× 5)+ (002,222× 1) →  GDP = 1000.000+600.000 

→ GDP =1,600,000 

2 VA 

 

∑VA=∑PT-∑Ci → ∑VA= (1000.000-70.000)+(600.000-90.000)

 →∑VA= 2722222+0022222 → ∑VA =1440.000 

3 GDP 

 

GDP=∑VA+TVA+DD → GDP= 01122222+0202222+002222 

→GDP= 00222222 

00222222

 

 :الخامسإجابة التمرين 
1 G

G 

G= 150,000 + 60,000 + 110,222  → G = 320,000 

2  

I

 

I = 740,000 + 732,222 + 022,222  → I = 1,410,000 



10 

 

3  

 

Nx=X – M →  Nx = 301,222 – 010,222 → Nx= 022,222 

4  

GDP 

 

GDP = C + I + G + (X-M) → GDP = 732,222 + 702,222 + 0102,222 + 022,222
→ GDP = 0,022,222 

 :السادسإجابة التمرين 
1 

 

395,000  150,00060,000 155,000760,000

 ون 760,000

2  

 

740,000 380,000360,000

360,000

3 

 

360,000290,000745,000

1,395,000

4  

 

245,0000222222445,000

5 GDP
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GDP  

GDP = 300,000 + 1,395,000 + 445,000  
→ GDP = 0,022,222 

 


